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SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions

1. What is industrial dispute?
2. What is minimum wages? 
3. What is partial disablement?
4. What is the minimum bonus to be paid by the employer?
5. What is the minimum number of employees for forming a trade union?
6. Define misconduct?
7. Define worker?
8. When is a welfare officer appointed?
9. Who is an occupier?
10. What are the objectives of labour laws?
11. Who is a child according to the factories act 1948?
12. Who is an apprentice? 

SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions

13.  What are provisions related to employee state insurance act?
14. What are the benefits available to women from maternity act 1961?
15. What are provisions related to equal remuneration act?
16. Explain set on and set off in payment of bonus act 1965?
17. Discuss the provisions related to the sales promotion employees act 1976.
18. Explain  briefly the payment of gratuity act 1972
19. Explain partial disablement, total disablement, death of employee and their compensation 
in workmen's compensation act 1923.


SECTION C – (3 × 10 = 30 marks)
PART – A – Case Study – Compulsory Question
20.      In M.D., T.N. State transport Corpn. V. Neethivilangan Kumbakonam, the case question 
that arose for determination was what is the right of the work men after the application filed by the employer for the approval of the order of his dismissal from service refused by the tribunal and what is the remedy available to the workmen in such situation. 
 (
[P.T.O.]
)     The appellant, Tamil Nadu transportation corporation limited initiated a departmental inquiry against the respondent V. Neethivilangan who was a junior superintendent in the head office. The charges having been established in the departmental enquiry an order for the dismissing the respondent from service was passed. Thereafter, A application was made by the appellant for accord to approval under S.33(2)(b),before the tribunal.  The tribunal rejected the prayer for approval on merit. The appellant filed a writ petition challenging the order passed by the tribunal which was dismissed by the high court. The appellant filed special leave petition in the Supreme Court which was also dismissed. Even after it failed to obtain approval of the tribunal for the order of removal of the respondent, the appellant neither reinstated him in service nor paid him wages. The resultant position was that the respondent remind without work and wages, though he was ready and willing to render service in the establishment. 
     Under the circumstances respondent filed a writ petition for reinstatement in service for payment of wages and other consequential benefits.

Discuss the case and identify whether the judgement will in favour of the workman. 
PART – B
Answer any TWO questions
21. Explain the welfare provisions in detail under factories Act 1948.
22. Explain the methods of settlement of industrial dispute . 
23. Explain fatal accident act 1855 in detail.
24. Explain various theories of trade union. 
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